Math Studies 1 Unit 1 Review
Complete all work on notebook paper.

1. Review the laws of exponents. You can complete extra problems that were not assigned on pg 76-80.
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(a) calculate the value of p. . LN - O3S

Barry first writes x, y and z correct to one significant figure and then uses these values to estimate the
value of p.

(b) (i)  Write down x, y and z each correct to ﬁgure.

(ii)  Write down Barry’s estimate of the value of p.

2. Givenp=x—

(c) Calculate the percentage error in Barry’s estimate of the value of p.
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3. A satellite travels around the Earth in a circular orbit 500 kilometres above the Earth’s surface. o Q“"’o

The radius of the Earth is taken as 6400 kilometres. -
(a)  Write down the radius of the satellite’s orbit. AV RN (96700[0""
(b)  Calculate the distance travelled by the satellite in one orbit of the Earth. ﬂ-.—, ty e ()= oY1 (:W(’\"
Give your answer correct to the neare@ _ O“" I C
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(c)  Write down your answer to (b) in the ax 10", where 1 <a <10,k € Z.
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4, The planet Earth takes one year to revolve around the Sun. Assume-t 5365 days and the path of
the Earth around the Sun is the circumference of a circle of{fl_ciiu : 150 000 000 m.
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(a) Calculate the distance travelled by the Earth in one day.

(b) Give your answer to part (a) in the fo g l<a<l0andk € Z.
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5. The volume of a sphere is ¥ = ,|—— , where S is its surface area. V = gy T
36m S0 361

Thegur&_,cglga,dfa sphere is 500 cm?. = S = oSl 35U le-\3
(a) Calculate the volume of the sphere. Give your answer correct to twfo decimal places) f ‘Uf\‘l y| U,} ’

(b)  Write down your answer to (a) correct to the nearest integer.

(c)  Write down your answer to (b) in the form a x 10", where | <a<10andn € Z
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6. Letx =7.94
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(a) Calculate the value of 2):;1 . O ﬂ gbl 'SUO S‘“WM . T

(b) (i)  Give your answer correct té three décimal}places.
(i)  Write your answer to (b)(i) as a percentage. LO3Y 12 T

(¢)  Give your answer to part (b)(i) in the form a x 10%, where 1<a <10,k € Z.
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7. The total weight of 256 identical pencils is 4.24 kg. Calculate the weight of one pencil, in kg.

(a)  Give your answer exactly. w—-"‘ =, ol b ﬂ’g
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(b)  Give your answer correct to\three significant figures.

(¢)  Write your answer to part (b) in the form a x 10* where 1 <g<10andke Z.
8. Letx=6.4x10"andy=1.6x 10%
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giving your aijwers in the form a x 10 where 1 <a<10andk e Z.
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